cSwy - J4—)LRFER - RB5 - 588kX BHLET)
bEty  BER a— R W R F45[E] FEHXEFFEEFIERS £ BNEFEES o— R 18 31 0712 HHHIE PR BE &= =z B R
T A FEER U R [ E BEHkIBE R - 84T - BEE - BHBSBHELBRGR R4 EB R /N\— KFRIUELFRBS a— R 312030 ik an #HA #HE
aft | mE |y e | s i wg || s i wg || meHcE i wg || mecEs i s
07/28|—f% - S BF5 (31LL-2) 1|58 ##% SUNS AC 11§43 2 {18 1ERd —ZEBHEKE| 117046 3| BER * 2 [Be 115048 4| KE e 2 [kFES 11751
100m E -1.3m Gafun| -1.3m E -0. 7m Em -0. Im
5|ail B— EHRAS 11567 | 6 |[lEME—H 1| kFES 11569 || 7%  ®A SUNS AC T1#70 || 8 |[X# =288 5 |[BRmAE 77
E -1. 3m B -3, 4m EH -1.3m B -1.3m
07/28|—f% - & BFH (34LL-2) 1 |87EE  H&k EHRAS 22F153 2 | WHE 6 |BEKE 22F593 3|&E@E SUNS AC 23712 4[] EXEH 6 |BELKE 23F045
200m E 0. Om Em -5.1m E -1.0m Em -5.1m
5HE A5 SUNS AC 237058 | 6 [AL W= 2 [kFEs 2370690 || 7 |AX B 2 [KFIS 237080 | 8 |[fa WA AEEZ 4= 247045
E i 0. Om B -5. 1m E i 0. Om B -1.Om
07/28|— 5% - &R EF &k (3LU-7) BEERERG AEEE S 497044 || 2 [Im = 2 |Ba 5070 || 3 |RE BE AEEE = 5271 || 4 |Ef E2 AEEETS 547550
400m B R B Em B
5|@@HF WA 2 |XkFiE S56FP77 6 |ILA i BEER 56%096 1128 =3 1| XFES STFP67 8 B4 KIEL 1185 58010
E i B E i B
07/28|— % - EREF| R BEEIREES AEEE S 35355120 || 2 [MBE K& 26|5EhEN 45310739 |3 |BA BE MEEZ 455167080 || 4 [1EA ks 29| ;{aEskED 453177585
1500m Em REH B B BE
5 (8% FHA PR ERPELR 45326F056 || 6 (BEE (HE 2 |IERES 45728F009 || 7 HER AREXL 2 [KXkFAS 453345038 || 8 |FAFT EH 34| EF LK 453358027
E i B E i B
07/28|—f% - BB BF| R MEZEARER 1 E8 EE 1 Nk 15 1
4 % 100mR 1|1aR 5 2 [BEA 437082 |2 |k BE 2 | k7S 457060 || 3 |Z=E 1AL 1|38 ATEH40 kFisE R 15
RIFEZAT 1 Wil BEXHE 2 = LK 2
¥ATE = 2 IHHE—H] 1 ESZel B 1
EmX Ri5
07/28|—f% - &R BF| R RK#  5HBf 5 JI&F E 5 —= w3 1 hnRE 15 1
4 x 400mR BTN 6 |EEKA 353397005 | 2 [t EhfA 5 |EEAB 343425056 || 3 |#0)1 K30 2 [kFEEA 343455080 | 4 [fE R KRG 1 |85=B 3448FH72
mmE £F 5 RE WE 6 ml = 2 M EZEAER 1
INFR A5 4 BN il 1 INE BiE 2 ESZel iR 1
EM Rk 2 ¥AH -1 2
5| XKE W 2 |k FEREB 3951071 Ak = 2 |IEEEA R 15
FifR BE 1 RBIBEZN 1
KI EEZE 1 =SH 1% 1
07/28|— 4% - &R & T (34LLU-2) T|EMDCH T|RFIS 137003 || 2 [ItB B= NEEE T 13713 | 3|2 HP Y HEEZ 137015 || 4 |f0R BE AETS 135034
100m E& -3.9m E -1.4m E& -1.8m B -1.4m
5EAR EBEX AT 137049 |6 |2E =2 1|85 138051 | 7 |&tE F®= AEEZ ] 137059 || 8 [FHERZ 2 [kFiE 135067
E i -1. 4m E -1. 8m EH -1. 4m E -1. 4m
07/28|—#% - &8 F i (31LL-3) 1B CH 1 [kFi&= 267045 2 [F/NEFFIF 1|E5 26048 3|#FHiE BE 3 |BEmKE 27#:19 4 [ EHEKFHZE 2 | XFiIsE 27%39
200m Em -3. 4m B -3.4m Em -3. 0m B -3.0m
HEEEER AT 277086 | 6 |25 = 1|8&s 287001 || 7 |[b®B Fik AEEZ ] 287007 | 8 (BB =12 e 28%053
E i -3. Om E -3. Om EH -3. 4m E -3. Om
07/28|— & - K F| RIE T|5eE == AEEE TS 253345042 || 2 |ME BA 4 |BEAE 253315016 || 3 |lE =M AEET T 25387067 || 4 BT = AEE T 253405532
800m B By B By
5LE &5 BEEZTS 253545593 | 6 |ILA B& 1| *kFhs 243508070 || 7 [IaA = 1| *%FhEs 34302590
B B E i
07/28|—f% - E&F| R -2.1m| 1 |FE i 2 [EBE 18%047 FEULEH RANAEEER R 15
100mH[0. 840m/8. 5m] By B

No.1



fSwd - J4—JLRTEH - iR - BefkF BHLET)
bt SR =—F  [31] gas  BA5E EHMEKEEHRETEAS R BRETEES o—F 18 31 0712] HHE Pl B & X BB
TR FER R RE E RS CRFm - BT - B - BRRSBHELERGS s ES RSN—S(FHIUBEL RIS a— R 312030 =04 AT FE &
L=, N IE\ srtr = = IE\ frtr = = IE\ st = = IE\ stz = =
aft | mE |y e | s i U I i o 0| s i e 0| s i e
07/28|—#% - @& F| R Ee ER 1 BR B 1 = >3 2 & FIMR 1
4 x 100mR 1 [F/NEFFIF 1[ES A 49%071 2 |BHD<CH 1 [XFis 51732 J|IEE BE 1 [XFES 51F047 4ER BK 2155 B 527084
IR EE 2 AEH ML SRR 1 EE & 1 A £ 2
=1 .- 1 EHEFE 2 ;E Fixk 2 HZE  #% 2
KFHES R 15
07/28|h=21EBF B (31LL-2) 1{/hE w2 1 (A0 h 12039 2 |3 VS 1 | 127089 J|ER HE 1 |[FEARr 13035 415H BE 1 |f8Xkh 137036
100m -1.0m -3.0m -0. 7m -1.8m
5T &EX R 135061 || 6 @A F05E EE 137067 |7|XBR Ht=E T = 13872 [ 8|ER mEE 1 |[AR+F 137180
-0. Tm -1.0m -3. Om EiR —1.8m
07/28|%2-3F B F B (51L-2) 1 [#8& #&H 2 &y P 12503 2 AR F0pE 3 |EW 12%003 3|&5H EE K )=F == 12505 4112 KIE J|EEE=H 12§37
100m +0. 4m -2.3m -0. 5m -2.9m
518K (AKX 3 |IEHEE=FH 125037 6 |HFEx —F 3 |&F0s 125048 1 KIR R 3 |&f 125049 8 |k K& 3 |FEAR 127057
+0. 4m -2..3m +0. 4m -2. 0m
07/28|h=FHF B (94LL-2) 1|fES ]| 2 |f@Kep 545029 2 | Fith EF 3 |Huch 55%039 3 |M9fR L J|IREE=h 56%010 4 |k K& 3 |EAR STFMT5
400m
5|1 F IREE 2 |[#&BBy P 58%1:80 6 |F2 AR ZEKER 2 |#&BEy P 15000092 (| 7 |#EHF HZ 3 |EEE=h 157501#:37 | 8 |8 BEXK INEZE L 153095067
07/28| =B F fg (94LL-2) 137 IREE 2 |[#&Ey P 45330027 || 2 |2k 1KE 2 |FEAth 45337%042 || 3 |BFE A 2 |BE 45337%70 || 4 | Fit J|IBEEAFE=H 4453387066
1500m
S5HERAK 5h 2 ;0O 45339%016 |[ 6 |LLE HItE 3 |faxkrh 453408017 || 7 S HBEKEH 2 |&Eky ER 45342736 || 8 | KiF 3 [Hhle 453437092
07/28| =B F R -2.8mf| 1 [/E@A XM 3 |Fhiurh 165008 2 | RBB—ER 1 |FARdh 217052 it ik 1 [FERr Ri5
110mH[0. 914m/9. 14m]
07/28|h=HF R EH A2 3 A X3} 3 JtH & 3 AREIKE 2
4 x 100mR 1[HEE Xit& J|IREE=F 475028 2 |HFR —F 3 |&F0s 49%109 S|HIR fFXK 2 |EWEH 50015 4 KE HE 1 [EEE G 50F)73
PaRE LA 3 BEE &K 3 g 28 1 WA EEX 2
B AKX 3 ®E 8 2 JIlE R 2 BH —= 2
it 2K 1 A/ #& 2
5|ER & 1 [EARd 52F061 || 6 |LUz HAX 3 |B &t 53F065
BIE $RiE 2 sl HE 2
Fast  FOiE 1 ME _#HE 1
07/28|=1FELF  BF (34LL-R) 1|E T INEZX L 145129 2 |1BARHEH 1 |[RfEg 14%»30 dbE i 1 |RfEs 147045 4|1BHE K% 1 |f@&r 14775
100m -3. 3m -2.2m =-3. 1m -3. 1m
5L+ 2 1 |&BEy B 14782 6 |8 K =R 1 (8% 14792 1 INEVET= 1 [RifEH 14%97 8 | 15 1 |ELWF 14%:99
—0. 9m -2.2m -3. 3m -2.2m
07/28|%=2-3F %+ f (41LL-3) 1 (poier #4453 3 |#&BEy P 127057 (-2.6m)| 2 |{E R KREH 2 |EH g 13%006 3 [#MHE ZE4& 3 |RfEch 13711 N N | 2 |[EWESH 137064
100m REH -2.2m -0. 6m -2.6m
S5 THBA 2 |#&Eyr P 137068 6|/ FHERT 2 |fBEH 147004 7|F AR BN 2 |k BB 147022 8 [HIITH &= 2 | K 143048
-0. 6m -2.2m -2. 6m -(0. 6m
07/28|hZE&ZF B (94Lb-2) [+0.9m|| 1 [(FHEEE 2 |fg&E 28%1:32 2 |B¥ &% 1 |f@&Es 297030 3 |HIE KK K J=—¥ =2 307024 4|84 AlE 1 (&% 307075
200m
5 |[ERNIF=E 2 |RAH 3F23 | 6[EE EiZ 2 | R0 [[7T[AXx BEZ EZ X 32F040
07/28|h =& F R B 1/ RK 2 |#&BEy P 54310749 (| 2 |NH = 3 |®E U 57107052 || 3 |Ek #kE 2 |y R 55187026 || 4 |BAR KAk 3 |mfE 55718%032
1500m
5|:| EM 1 (B 54324218 || 6 [dt:E 1t 1 |y B 54324024 | 7 [BFO  EEAR 3 |EARMH 55342751 || 8 [#EH X 2 |f@krh 55342755




cSwd - J4—)LFFEH - RR - Lz (BLE T)
bEty  BER a— R W ks 4500 FAEMRELFRPEFERSE £ BRAEFEES a— K 18 31 0712 #HHE PAfR B2 & &2 B R
T A FEER U R [ E BEHkIBE R - 84T - BEE - BHBSBHELBRGR R4 EB FIN\—D K FEIUELHRES a— R 312030 ik an #HA #HE
aft | mE |y e | s i wg || s i wg || meHcE i wg || mecEs i s
07/28|h &+ R -4 4mf 1 (2[]R 2t 3 |FEAm 18%16 2 (480 #A 2 |&E s EF 19%025 BB 1= 2 [tBEH R 15
100mH[0. 762m/8. Om]
07/28|h =& F R B t=® g 1 FR FB 2 XE KH 1 FRHEMWHEF 2
4 x 100mR 1 |INEVDH = 1 [RifEd 94751 2 | KW EmBE 3 |BEH 56%025 J[AKR BEE 1 |FAXRd 58043 4Ihy D= 2 |BHE 997005
BRHSH 1 LfzE S Y 2 ERNIF= 2 Ll | 3
IMNR RS 1 =iE B 3 A [FO0= 1 BRERE(S 3
kA XX 2
il R 15 WRELF 1 [ EWEF S HER1
I T8 1
) ) i
07/28|/NFEBF B (44LL-2) 1474 77wy 6 |KFREEHTT 137023 (2 |t/ ik 6 [#ZATC 137050 [3[RARFZLD 6 [/\48957 13853 [4|&E BE 6 [TFKF 13775
100m +0. 5m +0. 1m —0. 3m +0. 1m
5|RE Wi 6 | ZATC 143005 | 6 [/hiR #AY 5 [TFkF 147006 |7 [tkEE = 6 [TFkF 147028 [[8[iig & 5 [ 2 TC 145152
—0. 3m +0. bm +0. 1m -0. 3m
07/28|INEEBEF B (44LL-2) NEGEEES 6 |IZB % AAC 253317039 [ 2 [tk x K3+ 6 [TFkF 25336%057 [ 3 [ILA EiE 4 [7R)-PKF 27377004 [ 4 |58 K& 5 |7A)-FKF 25>38F019
800m
5 |filg  KiE 5 |[TFkF 253387094 || 6 | KHE BasE 5 [72)-FKF 253398075 || 7 [mh K3 5 | XILfEE 270425004 || 8 |&EEy E= 4 I2B 7 AAC 25467056
07/28|/INEBF R B ki = 6 fE XK&E 5 | 155 5 B2 =P 6
4 x 100mR 1|32 gy 6 |TFkF 53F063 || 2 |L4E #ERR 6 |FZTC 54§09 || 3 | 554 6 |kFELEYST| 57844 | 4|EE K3 5 | KILfE L 14>00F089
IR B 5 REH [RE Ui 6 REFH BHE fI3ZE 6 g HRE 6
a8 BE 6 WG A 5 74 77y 6 WA Bo 6
AR E1E5 4
AUN TS 5|7RY—FRF| 15025014 SMTC Jr. Ri%
KIE B4 5
EZ KE 5
07/28|/IhFE%&F B% (44LL-2) 1|4t £F 6 |72)-FKF 137005 |2 [fABD EM 6 [7A)-FKF 14818 |3 [/h#k  BAD 6 |fZTC 145037 |4 |=#% #07E 6 |[#REATC 14760
100m +0. 7m +0. 3m +0. 3m +0. bm
5|mAx HE 6 [SMTC Jr 147065 || 6 Bk =1L 6 |#ZTC 147073 | 7|XE Z£@ 5 [SMTC Jr 147074 |8 |;kR == 6 |[TFKF 147182
+0. 7m -0. /m +0. 5m +0. 3m
07/28/INERF B (44LL-2) 1[EK =4 6 |fZATC 250298071 || 2 [hFT =& 6 [TAU-FKF 25730f18 [[3[&2F YA 6 [#ZATC 25347070 [ 4 [FA AR 6 [TAU-FKF 25>39F049
800m REH REFH
5[kR mEE 6 [TFRF 257427055 || 6 [lEHEBEE 6 [72)-bKF 200435042 || 7 (AT #5K 5 [72)-FKF 270437060 [ 8 | EfEEx 6 [TFRF 252437166
07/28|/NE&ZF RS hF ZF 6 AR NiE 6 HE —F 6 EE tiE 5
4 x 100mR 1|80 &n 6|7RY—FKF| 56809 |2/ B 6 |fZTC 56F010 |3 |kE == 6 |TFkF 58065 | 4 |IAAK HFE 6 |SMTC Jr. 14>01F059
FA EH 6 =M FTE 6 B MK 6 K& £ 5
BIE &K 5 ®F YA 6 TE FEZ 5 M —F 5
=K T 6 RA/NFIE 3
5|mil B 5 |[4EKE /N 14307005 || 6 |#TE =M 2 [I2B 1 AAC 143207192
SH E# 5 #E  HR{E 2
EAL BRME 6 e FHK 3
07/28|—f% - &R BF 1|8 Bk 2 |EBRES 1m85 2|5k EE 1| XFES 1m50 KT BEE 1| XFERS 1m35
Emk S H S S
07/28|—f% - & BF 1 |8E L EHAS 7mOT 2 (81 KF0 2 | KFHRS 6m13 3|=HE &Rk BT 6m11 AEH EE 1 [kFHaEE 6m07
TE M2 Bk B +0. 4m B 0. 0m B +1. 2m B +0. m
5 it IR 1 [kFIsm 5m93 6 [hnik ] 1[ES 5m75 1| RILEEZA 1|ETES 5m64 8|BH Eth 1 [kFIdsm omb4
EHY +0. 4m EH +2.0m =5 +0. 5m Em 0.0m
07/28|—f% - & BF 1 [hnpE 15 1|[IES 11m91 2 5@ &Rk 11IES 11m78
= E% Bk E i -0. 1m B +0. bm




No.4

cSwd - J4—)LFFEH - RR - Lz (BLE T)
bEty  BER a— R W R F45[E] FEHXEFFEEFIERS £ BNEFEES a— K 18 31 0712 #HHE PAfR B2 & &2 B R
T A AR e L 3 Hkine (kT - 85T - BAE - BHRRRHHELERRS ka2 EL FSN\—Y X FERIUELFRES a— R 312030 SR A %8
aft | mE |y e | s i wg || s i wg || meHcE i wg || mecEs i g
07/28|—fg B ¥ 1 [+t E [N PN Tm14
Fatix[7. 260kg] B
07/28|—f& B+ 1[I+t =] EmRXKE 21m04 2 |HAE #BX I ERRER 18m23
AA2I%[2. Okgl B BH
07/28|—f& B+ 1|fE 1z EDHRNE 24m70
NI —1$[17. 260kg] B
07/28]— % - BREF TI/NE 558 XKFERE 53m30 || 2 |l ZEA 2 [KFIES 36me6 || 3 |mMHE % XFAE AL R EEEREES KF s 21mb3
o) $%[800¢g] B B B B
Z2EEZMN ;K%ET%' R 15
By
07/ 28| BEF 1K BE EBRes 9m90 ? |EE 2% NEEZTS) Tm4s 3[EL &B— XFAE 6m02 4B =8 KF e 5m9?2
FaL % [6. Okgl B B B B
HEEIREES KFAES 5m61 6 [fEF BAX NEEZ= 5mb?2
B BE
07/ 28| BF T/NE EiE XKFEE 24m36 || 2 |IAA EE AR 21m18 | 3 |&%  IbK Be 19m90 || 4 | Bz ot KF S 18m24
A& (1. 75kg] B B B B
51 H BEX KXFAS 17m77 6 |Ed &B— 1 [XFAaS 12m82 HHR ES KXFES Ri5
B By B
07/28|—f% - &L F 1 |B/NEFFIF Bs 5m37 2 It BHE 1| XFES 4m97 A T9 Bs 4m83 4B FIMR B 4m62
EhE Bk BEE +1.1m Em 0.0m Em 0. 0m B +0. 5m
5|k AE BR X 4m52
E i -0. 2m
07/28|— & - BR&F LD SNTC 1m29 | 2 |[Ba Fim, 1|8ES 9m69
= EX Bk EH +0. 9m B +0. 2m
07/28]— % - BIR& T 158 Bx XFEE 9m71 2 [ BF NEES 5m18
Fa 1% [4. Okgl B B
07/28|—f% - & LF [MEES i XFits 29m83 2 | =17 BE 2 | XFRES 23m66 J|IEE Z=# KFES 20mb5 4 (@B EBF HES 13m13
AA2I%[1. Okel B BEY B B
07/28|—f% - B &F =B B KFEE Ri5
XU $600g] B _
07/28|h=EF 1T{INE  #£5& HWESH 1m70 2 [fEE XKIE S |EEFE= 1m65 3 1eH K EOrh 1m65 4 (Nm 2= EwWEs 1m40
£ =Bk
4|1RE RE BEE -G 1m40 6 [l ZE=3) 1 [IEEE -G 1m35
07/28|h= B+ 1 (MR *L&t EERE=-G 5m74 2 [RIR fHXK 2 |EWEP 5m44 3(Em@E X3 & 5m30 4 (RZEEIE HIESH 5m06
TEME Bk +0. 8m +0. 4m 0. 0Om +1.2m
5| /k —F £ 4m97 6w 2= NE L 4m93 T|Em E=E AR 4m90 8 [RE AR BEE _t 4m78
+0. 7m +0. bm EiR +1. Om +0. 8m
07/28|h= B+ 1 K& R Z 10m71 2 |15BH —= 2 [IEHAE G 8m41 JIBEAR X RBE=f 8m07 = ER BAE=t Ri5
a2 [5. Okg] -t i
07/28|ch= B+ 1[Bd BE JtEh 55m65 2 | Wt J|EEBE=h 45m15 3K EAm EEE—G 42m17 4|KTFT FIA HWESH 38m47
¥Ry HszRO0— REFH
5MmE & £ 36m21 AEEREEES 3 BEAE= 34m00 | 7 [/ EEn EEL: 33m40 | 8 [ZE == BHE®$ 26m46
07/28|hZEZF O #A ‘i B Ri5 HE 4 1 [EBEFE -G R 15
£ =Bk
07/28|h & F 1|Eh EX EEE o 4m63 AETEEEES AETEES 4md3 EEEES EA T 4m31 AN R E KL 4m28
EhE Bk +1. 2m +0. Tm +0. 3m +1.2m
5 |HE TiE & F0H m0 | 6|+tm | 1 |BBE= 5 |7 |BR 0B EAE— mi0 |8 |E8 T EAE T 4m02
+0. 4m +0. 6m +0. 3m +1. 1m




kw9 - J4—)L FFEB - iR - 588k &x B E T)
bt SR =—F  [31] gifias  BA5E EEMREEHERTEAS ¥ BAETEES o—F 18 31 0712] HHE Pl B & X BB
T A FER R B F RS CRF - T - BIEE - ARNSBHELERGS B4, EB R /N\— KFRIUELFRBS a— R 312030 oER AT R WE
aft | mE |y e | s P wg || s i wg || meHcE i wg || mecEs i s
07/28|hE &+ IR A FAD 7m70 2 BRECEH ®EgEyr B Tm64 3|XE HiE BEE= Tmid 4 (B8R =8E 2 |IBAE= 6m90
R [2. 721ke]
5(AM &Rk w1 {7 o 6m26 6 [{=iE ZEH ®’EEy B 6m24 IE K= e = RI5
07/28| b ZE & F T|ILA = ®Ey LD 32m81 | 2 ’MIl Tem HEky BB 32m48 | 3 [BE Elx L 2Im62 | 4 |[BRE BEX AEEE: 22m99
xRy HR0O0—
MY Bm® 1om37 || 6 @ 1KMW Bms 16m88 | 7 (2B e =L H 15m71 | 8|Sl E& A 13m94
07/28|/NEBEF T|BREL® J\1B157° Tm46 2 |[BRA =i KILFEE Tmib
2k KL
07/28[/NFBF T[4 7 v KFREL)F) 4mb9 2 [1MR 1B & TA-FEF 4m07 EEIET KILfEE 3mg1 TR 6 [SMTC Jr 3m62
ENE Bk -0. 1m 0. Om -1.0m +0. 8m
5lEN B 25 72 AAC 3ma9 6 |[MMEBBA ETC 3m31 T XE B4E TA)-FRF 3m23 EEEELR 5 [SNTC Jr 3m07 (<0. 2m)
0. Om -0. 1m +0. 6m o b 3m04
07/28| I NE&RF 1ZE@ @G =572 A/AC Tm10
E = Bk
07/28|/NF&F T|1€F YA TETC 4mi5 A SMTC Jr 4m05 3|l & SNTC Jr 372 4| KE =m 5 [SNTC Jr 3m62
ENE Bk 0. Om 0. Om +0. 3m 0. Om
AERES TETC 3m51 6 [BBED EM TA-FRF 3m32 7|mil @\E PRS- 3m30 8 [amN == 6 [fZTC 3m28
0. Om —0. 9m 0. Om +0. 5m
07/28| /N &+ IRE 35 = XFfELYH737 37m03 2 [EM FfE WETC 34m61 (a2 WETC 32m05
Y7 kAR—I)L¥%

No.b



